
  

16 

 

19 

52 

3 

2 

50 

14 

38 
29 

47 

26 

58 

20 

22 59 

 

18 

54 
1 57 

33 

43 

48 

35 

28 

36 

39 

46 

30 

41 

47 

31 

40 

47 

21 

52 

33 

 



 

37 

48 

49 

51 

62 

53 4 
5 

8 

37 

48 

49 

51 

62 

61 

9 27 

45 

27 

45 

10 

6 

60 

6 

60 

8 

7 

37 

48 

37 

48 

25 23 17 

32 

37 

43 

48 

11 

13 

12 

55 

56 

24 

34 

42 

48 

15 



Поз. 
Pos. 

№ детали 
Part № 

Наименование 
Name 

Кол. 
Quant. 

1 НТВИ 
8033.50.00.00.000 Блок контроля вентилятора ОП 1 

2 Т10300-81.01.00.001 Прокладка 4 
3 Т10300-81.01.00.002 Прокладка 4 
4 Т10300-81.01.20.001 Держатель 1 
5 Т10300-81.01.20.001-01 Держатель 1 
6 Т10300-81.01.20.002 Шпилька 1 
7 Т10300-81.01.20.003 Крышка 1 
8 Т10300-81.01.20.005 Шпилька 1 
9 Т10300-81.01.20.006 Втулка 15 

10 Т10300-81.01.20.100 Изолятор 8 
11 Т10300-81.01.20.400 Провод 1 
12 Т10300-81.01.20.500 Провод 1 
13 Т10300-81.01.20.600 Провод 1 
14 Т10300-81.06.30.001 Табличка 1 
15 Т10311-81.10.60.005 Колодка 1 
16 Т20320-81.01.10.000 Корпус 1 
17 Т20320-81.06.20.001 Перемычка 1 
18 Т20320-81.06.20.002 Кронштейн 1 
19 Т20320-81.06.20.100 Крышка 1 
20 Т20320-81.06.20.300 Крышка 1 
21 Т20320-81.06.20.500 Жгут 1 
22 Т20322-81.06.40.002 Пластина 1 
23 Т20322-81.06.42.001 Шайба 15 
24 Т20322-81.06.42.006 Бонка 2 
25 УКИС 504 602.005-03 Перемычка 16 
26 УКИС 504 604.001-10 Плата 1 
27  Болт M8-6gx16 ГОСТ 7805-70 16 
28  Винт A2.M3-6gx8 ГОСТ 17473-80 2 
29  Винт A2.M4-6gx10 ГОСТ 17473-80 2 
30  Винт A2.M4-6gx12 ГОСТ 17473-80 8 
31  Винт A2.M4-6gx20 ГОСТ 17473-80 8 
32  Винт A2.M5-6gx14 ГОСТ 17473-80 2 
33  Винт A2.M5-6gx16 ГОСТ 17473-80 20 

Поз. 
Pos. 

№ детали 
Part № 

Наименование 
Name 

Кол. 
Quant. 

34  Винт B2.M5-6gx20 ГОСТ 17473-80 2 

35  Винт ST3.5x9,5-C-Z ГОСТ Р ИСО 
7049-93 2 

36  Гайка M3-6H ГОСТ 5927-70 2 
37  Гайка M5-6H ГОСТ 5927-70 24 
38  Заклепка DIN 7337 - A3 x 6 6 
39  Шайба 3 N ГОСТ 6402-70 2 
40  Шайба 2U 4 N ГОСТ 6402-70 8 
41  Шайба 4 N ГОСТ 6402-70 8 
42  Шайба 5 N ГОСТ 6402-70 2 
43  Шайба 5Н ГОСТ 6402-78 18 
44  Шайба 8Н ГОСТ 6402-78 4 
45  Шайба 8 N ГОСТ 6402-70 12 
46  Шайба 3 ГОСТ 11371-78 2 
47  Шайба 4 ГОСТ 11371-78 18 
48  Шайба 5 ГОСТ 11371-78 32 
49  Шайба A 5 ГОСТ 6958-78 4 

50  Вентилятор K3G097AK3465 
EBMPapst 1 

51  Втулка АКСМ 201-333.000.003 2 
52  Заклёпка-гайка UNIVERSAL M5-R 20 
53  Знак высокого напряжения 1 

54  Коробка TK PS 97-TK PS 97 
10540201 1 

55  Крышка АКСМ 201-400202.001 1 
56  Основание АКСМ 201-400202.002 1 
57  Сальник PG13.5 1 

58  Термостат KSD301-75-10-FBHL-C-
M-B 1 

59  Термостат KSD301-75-10-W/O 
BHL-P-M-B 1 

60  Трубка термоусаживаемая ТУТ-
10/5 ТУ 2247-011-79523310-2006  

61  ТЭН 32А 8,0-0,4 Ор120 15 
62  Шайба АКСМ 201-333.000.004 2 


